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M.A. (THIRD SEMESTER)
EXAMINATION, Dec. -Jan., 2021-22

(POLITICAL SCIENCE)
PAPER SECOND
(Public Administration Part-l)

Time : Three Hours] [Maximum Marks : 80

e : FduER 1 |@vel & IR Ao

Note : Attempt all sections as directed.

gus - A
Section - A
(1 Mark each)

Fgfro/sgflaseda geA

(Objective/Multiple Choice Questions)

e : gl gl B IR AfSE
Note : Attempt all questions.

&) IR & T Hifere|

Choose the correct answer.

P.T.O.

1. "FRIBARE g T Wel 3% Ui veiigem T
foredt 21

(A) Th. 39, ¢eR

(B) TR i

(C) wmgaT

(D) Ter.dl. =w®e

"Introduction to the study of Public Administration" written
by.

(A) F.W.Taylor

(B) Luther Gullick

(C) Simon

(D) L.D.White

2. 3P (Urwick) & AR “3T8l & I wd Fafid
UHid BT &, Fromer o FHr & 3K -

(A) 99 12
(B) 89 12
(C) 799

(D) 10 ¥ 12

According to Urwick where the work is of a more simple
and routine nature, the span of control varies from-

(A) 9to 12
(B) 8to 12
(C) 7t009
(D) 10t0 12
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3. UI¥PR & Yaiis YR & ¥1erd ®I- 3a0T 8-

(A) 3d TS
(B) €M@ TG
(C) ured Yy
(D) T & PI5 Tl

Delegation of Authority by a Principal to his teacheris an
example of -

(A) Up ward delegation
(B) Down ward Delegation
(C) Side ward Deligation
(D) None of these

. oA H WITU®R U9 ITRaAIUE W 3G @1 & q9H
IR F A B RE I & P & -

(A) U T
(B) 3R P THAT
(C) Ueam=

(D) foiFor &1 aF

In organization that authority and responsibilty flow in a
clear unbroken line from the highest to the lowest- is called.

A) Scalar principle

(
(B) Unity of comand
(C) Hierarchy

(

D) Span of control
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. 3§ B9 Tda Fonfiret 3w &1 3eERor 6 @

(A) BHISC TgE e HHRH
(B) wr Hige vsfiregeH

(C) Wexa BRI B Uail
(D) ¢Rt feurddie 3ife g, vs.u.

Which one is not a example of independent Regulatory
Commission?

(A) Commodity futures trading Commission
(B) Farm credit Administration

(C) Federal housing finance Agency

(D) Treasury Department of U.S.A.

(A) &Rl Bad
(B) w=a

(C) TReX 18
(D) ©h.3&Y, TeR

Who wrote this book "The principles of Scientific
management"?

(A) Henry Fayol

(B) Maslow

(C) Chester Bernard
(D) F.W. Taylor
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7. 9IE e & dicg fgia feam fae a2

(A) R et

(B) &R ABHA

(C) TR

(D) Rw=

The famous 14 principles of organisation was propounded
by:

(A) Henry Fayol

(B) Harbert Simon

(C) Taylor

(D) Riggs

. oI UF @l TN 36T &l f[auR 9o R fham
faar ar?

(A) Ho IR
(B) wra
(C) T farer
(D) wer

For the first time who had given the concept of separa-
tion between Politics and Public Administration.

A) MaxWeber

B) Marx

C) Wodrow Wilson
D) Plato
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9. TP JEIRT P AT DI &?
(A) TR e
(B) & waet
() T faewr
(D) 3]
Who is the father of Public Administration?
(A) Luther Gullick
(B) Henry Fayol
(C) Woodrow Wilson
(D) Aristotle
10. 399 9 PN IdD &F 3UPH BT 3TERUT TEl &2
(A) oa
(B) wa
(C) ¥R e
(D) foeramzm Eiew

Which one is not an example of public enterprises?

(A) BHEL
(B) SAIL
(C) Indian Railways

(D) Vishakhapattanam Steels
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11. 398 § S T&l 8 2? 13. o8 q BN 3Rae YR Ja1 &1 3T T 89

TcIeT IO (RNE 95et) (A) URAT TG JaT

(A) 4 & fore gem & 2l (B) WRdA faaer Jar

(B) 39 I Tel fgaror <& 21 (C) WRA™ yfersy Jar

(C) difer® vd /3/wa & it faaRoT <& &l (D) ¥R & 3aT

(D) uwerEfT gRT & HaT & Which one is not part of All India Services?

Which one is not correct about Direct Recruitment? (A) Indian Administration Service

(A) Opentoall (B) Indian foreign Service

(B) Specific rules for age (C) Indian Police Service

(C) Specific provision for qualification/experience (D) Indian Forest Service

(D) By promotion also 14. ‘[T YN TS ARG §ed - fhadr $U 8
12. forpra e @ (A) wifgq wgrard

(A) uRade 3@ (B) wisHa

(B) UaTIhiHS (C) i e

(C) F=ra ftrpRare (D) Rww

(D) Fre=emar Development Administration on "Administration is planned

Development Administration is: changed who said that

(A) Change oriented (A) Monhit Bhattacharya

(B) Hierarchical (B) Friedman

(C) Centralism (C) PaiPanandikar

(D) Bureaucracy (D) Rigas

F-630 P.T.O. F-630



9]

15. 39 A D el 87 TH.UA.H.
(A) T A9FE HRURTH

(B) AR AINA BRURIM

(C) AR T BT

(D) AT g HRURYH
Which one correct? - MNC
(A) Mining National Corporation
(B) Multi National Corporation
(C) Multi National Companies
(D) Multi New Corporation

16. 50 ¥ B Wb 3if¥axor T8 87
(A) T 3mam
(B) dfemc afarera
(C) 3 Amat @1 faumT
(D) dfec BHCT
Which one is not a staff agency?
(A) NitiAayog
(B) Cabinet Secretariat
(C) Economic Affairs Department

(D) Cabinat commitees

F-630
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17.

18.

faunia 3upH feae ufar siatees a9 &°

Department public enterprises are accountable to whom?
(A) General Public

(B) NitiAayog

(C) Respective Department

(D) Allof the above

eI BT &R FafaeT gt b arwdr R iR d=ar g1
o= P ar?

(A) TRER IoaH W5 T
(B) 810 HIWRTT 3FSSHR
(C) U0 AR el -Ew
(D) 810 o= TN

"Standard of administration depends upon the calibre of
Civil Servants" - Who said this?

)
)
)
)

(A) Sardar Vallabh Bhai Patel
(B) Dr. Bhim Rao Ambedkar
(C) Pt.JawaharLal Nehru
(D) Dr. Rajendra Prasad
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19. 30 § BN T9E & WA BT F §IT &2 S
(A) faurt 3umw

TRERY Bl Section - B

(B)

(C) <geh 39 (2 Marks each)
(D) wifateres Ry oy I s

Which one originates by the special act of parliament? (Very short answer type questions)

(A) Departmental under takings Y % % 3 Fafam|

(B) Government Companies
Note : Attempt all questions.

1. P YHH & IReivd Hifsw|

(C) Jointventures

(D) Statutory Corporation

20. erEfa & g6 9 Far 9el T8l 87 Define Public Administration.
(A) X Ug ¥ 3T U @ 3R 3RER 2. Haf vemas & & fadwamsit @ adqn|
(8) vd R A i Write two characteristics of Private Administration.
(C) 3@ T
3. geFIcd A Ve & o g &9
(D) a9 & Tt ‘

Whati t di tion? What is Comparative Public Administration?
atis not true regarding promotion

(A) Anadvancement from a lowerpost to a higher 4. 3MeY B UHAT BT Hewd

post Importance of unity of command.

5. UM Pl WK HIfTE|

(B) Increase in Responsibility and Authority
(C) Higher duties

Explain Hi hy.
(D) Decrease in status xplain Hierarchy
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6. TdA ramw® AN FaT &?

What is Independent regulatory Commission?

7. Faaaxor o faaeEr R
Discuss Centralization.
8. uarEfd &1 37|
Meaning of Promotion.
gus - 9§
Section - C
(3 Marks each)
oY IR ued
(Short answer type questions)
dic : T gl & FR Qo
Note : Attempt all questions.
1. 949 A6 YT & 389 B FT BRUT &9

What are the causes of genesis of New Public

Administration?

F-630 P.T.O.

2. WA # Yeardio i Hecayof &7

Why delegation is important in Administration?

3. e ¥ @8 vd WIH & &g T 3R 2?2

What is the difference between line and staff in organiza-

tion?
4. ST @ smawEd Tt 82
Why training is needed?
5. 9T & HEd P ford |
Write the importance of co-ordination.

6. @ weIaH ¥ Jarfgia J T st &2

What do you mean by retirement in Public

Administration?

7. @& W P BRI B g R

Discuss the advantage of Public Corporation.
8. Y& BRIUNCI® & BRI $T JuH R

Describe the functions of Chief Executive.
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QoS - T 4. FlEReME wRa= ar e - faveyor &R |
Sectoin - D Bureaucracy Boon or Bane - Analyse.
(5 marks each)
e T uem
(Long answer type questions)

dic : 9 U & R Aol
Note : Attempt all questions.
1. 94 A6 TRINH & d&di @I fademT aifsel

Discuss the goal of new Public Administration.

2. 3N URAI JaT HRd P Thal 3R 3Gl § TEH
& 39 fR wga il

All India Services helpful in unity and integrity of India-

Comment.
3. gU.EAAl. R & a@ faRael

Write an essay on UPSC.

F-630 P.T.O. F-630



